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Nine strips of fabric were randomly
selected to study how this material
deteriorates when buried in a landfill.
Three of the strips were tested for strength
at week 0, three were tested after

being buried two weeks, and three were
tested after being buried 4 weeks. A partial
analysis of variance table is shown below.

Degrees of |  Sum of Mean

Variation :
Freedom Squarcs

F-value

Treatmenl e - - — i

Error

Total

The sum of squares for treatment:

0 a.180
© b, 302
@ c. None of the mentioned
© d.250
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An instructor believes that he can improve
TOEFL (Test of English as a Foreign
Language) scores of his students by more
than 100 points after just 5 lessons. The
instructor takes a sample of 121 students’
test scores after and before they received
tutoring. The mean difference was 110
points better after tutoring, with a
standard deviation of the difference equal
to 12 points. Let pD denote the mean of
the difference: score after tutoring minus
score before tutoring.

Assuming a = 0.05, which of the following
is the appropriate critical value?

O a. None of the mentioned

© b.198

Q c.1282

o d.1645
¢ e.1.658
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Predictor Coef SE Coef T P
Conatant -10.132 1.9485 A 0.00

X 0.1742% 0.02383 B 0.00

S = 1.31B R-S5g = T4.8% R-3qlad)) = T3.4%
Analyais of Variance

Source DF 1 M5 F
Regression 1 D E F .00
Residual Error c 31.266 1.7317

Total a8 124,200

The value of A is equal to:

© a.-5.08
O b. None of the mentioned

© c.5.08

. 0 d-127
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Predictor coef SE Coef T
Constant -10,132  1.995 A 0.00

westion - | X 0.17425. 0.02383 B 0.00

5= 1.318 R-5q = 74,8% R-Sq(adj) = 73.4%
Analysis of Variance

Source DF S5 MS F P
Regression 1 D E F 0.00
Residual Error c 31,266 1.737

Total 10 124.200

Based on the computer output on the
hypothesis test in simple lingar regression,
the conclusion is:

¢ o.For sure, the straight line model is
adequate

o b. There is astrong evidence (o
support the claim that HO: pl=0

O c. There is not enough evidence to
conclude that the slope differs from

0
:;:Lrumunnlumnrnnnmhmud
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‘© e.There is no linear relatic
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Fredictor
Conatant

00 x 01742
[ Ao ToT0N Komg = 74.0% R-Sgladi) = T340
- th Analysis of Variance
Bon) Foe 0¥ p-1. ] 3 F P
uestion Hegreaticn 1 B E r 0.09
Residual Error (= 3. 26% 1. T
Total 18 aa0e

The value of E is equal to:

Q a.46.467
O b.89.369
O c.7.263 ™™
O d.92834
QO e.53.667 i




Mine strips of fabric
selected to study NOW
deteriorates when buri
Three of the strips were tested for strength
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at week 0, three were tested after
being buried two weeks, and three were

tested after being buried 4
analysis of variance table is shown below.
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treatment, error and total?

o o3 5a0nd 8 respectively
© b.2 6and 8 respectively
Q ©.None of the mentioned
O d 2.7, and 9 respectively
© e.2,5and 7 respeclively

|
&w the following computer output.

Finish attempt .
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Nine strips of fabric were randomly
selected to study how this material
deteriorates when buried in o landfil.

Three of the strips were tested for strength

at week 0, three were tested ofter
being buried two weeks, and three were

tested after baing buriad 4 weaks. A partial

analysis of variante table is shown below

EE B BN

Variatioh mf Sum of Mean _I‘

Treatment |
Error — T6 | e -- |
Total e 226

What are the degrees of freedom for
treatrment, error and total?

O a 3, 5and 8 respectively

O b. 2, 6and Brespeclively

0 ©. None of the mentionead

O d 2,7, and 9 respectively

© e 2 5and 7respectively

Consider the following computer cutput.

Finish
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than 0.02 regardiess of the true value of p?

o a.297
o b. 2400
o ¢ 298
o d. 14086

O a. 2400

A company praduces metal pipes of o
standard l&ngth and weight They tested
its production quality and found that
length of the pipes produced weara
normally distributed. in a sarmphe of 41
pipes, the stondard deviation is 2.3 cm
Enginears claim that the population
standard deviation is less than 2 cm.

At a 0,05 level of significant , the critical
volue for the test is:
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An instructor believes that he can improve

TOEFL (Tast of English as a Foreign

Language) scoras of his students by more

than 100 points after just 5 lessons. The

instructor takes a saomple of 121 students

tast scores after and before they received

tutoring. Tha maan differance was 110 wiln
points better after tutoring, with a

standard deviation of the gifference equal 13 14
to 12 points. Let pD derote the mean of

the diference: scome ofter tutor g rmanus T

score bafore tutoring

The value of test stotistic is 9 |[2¢
. B 9. { ;
b. 8
d i

Consider the following computer output

The value of F is agqual to

) a.535

3 b, Hone of the mantionad
o ¢ 8026
o d.8283

O 8 2675



il
B SR R L R
S L 4

Fradictor Conl IE Coaf T F
Constant -10.1%2 1. 998 ] b.o0

X 0. 17438  0.07989 B . 30

8 = i MB B-3q = TV R-Sqiad)) = TN
Analyals sl Varlanoe

Sour o = EL ] 3 ¥
Beqreasion L L] E r o.00
Besidusl Ezpnr c n . ies LT

Total ] _ 19 124 X0

What is your estimate of o

© a.1737
© b.None of the mentioned \
© c. 1318
O d. 964
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Consider the following computer output.

The value of B is equal to

2 a. None of the mentionec
0 b.17N3
) €. 203
) d. 7.31

e.5.63

Consider the following computer output.

What is your estimate of o
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Consider the following computer output

O somple T best
HO=300, HO:p> 300

M Shdey
variable [ Sample wiean  (sampls
Rize) desdation)
J|E T
: 1
hea significo T
the test
i 1
| i Jia
25 T
|
Oof 4 andor i ¥
(&) ] )
are defectiv 1 5t thie
,|||..-|'I i confice
that tha arror in est 1 [ i
of dafactive reLilis b
0.02 regardles f the true valua of p?
o 2400
b 297

c. 14086

d 296
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